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—

1. Answer any ten of the following as directed :
: 1x10=10
oo il R (PIeT wRbR eIt Teg fors

(a) Identify the market in which AR is
always equal to MR.

IR e 791 3’0 5% [(F) 9 o Aifes
@ SR S e = |

(b) What is a monopolistic market?

G IT9 e 2

(c) In which type of market are selling costs
necessary?

@ R IS RG] o 2lcame 27 2
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(2)

(d) Demand curve is A in case of
both monopoly and monopolistic
competition. (Fill in the blanks)
et W oo afdwm T@Ee vz
@Al ; 27| (1N 372 7 1)

(e) What is meant by product
differentiation?

Teemas fomer feree f& gam 2

() In which market, firm has no control
over the price of the product?

@A IGES AT 7NE 82[{S (@I g

AT ?
(g9 MR is AR under monopoly market
(above/below).

(Choose the correct answer)

qIoioa IEEe MR AR @4R”
(8/[S/TeM9) AT |

(o= T/ q1fR Tferean)
(h) Give the meaning of selling costs.
& Jors = forat |
(i) What is marginal product?
oifa TLAT e % 2
() Define Derived Demand.
2R BfRTR JAewE feis |
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(3)

() What is the meaning of oligopoly
market?

73 Rcgor 359 oY 2

() State the meaning of market failure.
TR iFeror oY 4@ 391 |

(m) What is the meaning of factor market?
oy qesd oY {3, o |

(n) What are Public Goods?
qrerdl A W (5 2

(o) Give the meaning of duopoly market.

A qeEd S for2 |

2. Answer any five of the following questions :
2x5=10

were gl & Ie #iont 2E Ted ford -

(a) How does monopoly differ from
monopolistic competition?

GEHA WE GFEER dfefrerEe IS
e 1% 2 |

(b) When is price discrimination profitable?

7q Restiedd Ao fom 28 2

(c) Mention two features of monopoly
market.

PCobH1 TS Yo (1) Beary 41 |
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(4)

(d) Distinguish between personal
distribution and functional distribution.
TfEere Regd we e 91 erfefes foim
rere A1 (TS |

(e) In a competitive factor market, on what
does the demand for a factor input
depend?

437 ARSI oM I&S, b1 T
B3 929 eoqe fAde a2

(f) Give two features of Public Goods.
JrerRAl ST K61 ¢y fofa |

(g9 Give two examples of negative
externality.

YIS IMZFoR 701 iz |

(h) What 1is meant by Asymmetric
information?

PG 641 Jfeicet 6 o 2

3. Answer any four questions from the
following : 5x4=20

weTs fra & CPIe wifRh! ope T fore

(a) What are the differences between
perfectly competitive market and
imperfectly competitive market?

°1‘f-ﬁﬁ9—aﬂf\9f@w EIE] H[F ts{oic{_
A= I e #1277 9
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(S)

(b) Define Average Revenue and Marginal
Revenue. Draw the AR and MR curves

under perfect competition and

monopoly market.

o5 R o wre afee RE o ke il |
o§of-eifecaIronee JEH SF SFOHA TS
G @9 TR APl SfE (IS |

(c) State five characteristics of perfectly
competitive market. Explain briefly.

off-eifScaIfToa® TeTas 160! CIfME) T P |
S JER e |

(d) Write a short note on oligopoly market.
75 Rogor @R I9ER @ 6 59 G=I
fors |

(e) Define natural monopoly and give

examples with two characteristics.
2+1+2=5

Ao GFCOHA IS A IRl WE TArRI
iz = @orce oI ey foram |

() What is a factor market and how does it
differ from a product market?

o IEE T 2 AN IGEE (AP
fom 2

22A/1105 ( Turn Over )



(6)

(g9 What are the conditions under which
efficiency of perfect competition can be

achieved?
& v6o 4o-afeonEe IHES THOl 3T
f<q {2

(h) Give the relation between public goods
and market failure. '

qrerdl ST W IGA TR qEe 7w < 2

4. Answer any four of the following questions :
10x4=40

wore fran & e 16! e Beq for

(aq) What is monopoly market? Distinguish
between perfectly competitive market

and monopoly market. 2+8=10
GFoioAT I A (% 2 oJf - =<
GO T TS A1 A |

(b) Discuss the short-run equilibrium of a
firm under monopolistic competition.

PR S [/WES IJEW  ARSDEE
2FFla SR SRER R SeEm= 341 |
(c) Explain with a diagram how long-run

price is determined under perfectly
competitive market.

Jq-AfSAfTeee wEe M@ & @
forefiae 1 =, fous SRS R 340 |

22A/1105 ( Continued )



(7))

(d) How can monopoly power be controlled?
Discuss the social cost of monopoly.

oy S @ee ge IRT o[ IF?
IFOHY IGET ANMGE IRE RISl
0 |

() How is price determined under
monopoly market? Discuss with a
diagram.

IFOHT TGRS (@FE W@ [T 9 =2
oI SRS AL 47|

() Analyze the sources of market failure
that may arise in an economy:

g Ao TeR 23 {1 IR [REeeN
TPy fosma 741 |

(g9 Write short notes on :
(i) Non-Rivalry
(i) Commons problem
12 o1 fera
(i) Seferi=el
(ii) SCTROE TP

(h) How is demand for a factor input in a
competitive factor market determined?

G4 ARSI AW &S GOl T
oif2nl e e 591 =00
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()

( 8)

Explain the features of monopolistic
competition with five examples fromi’ e
day-to-day life. : 4
T e T erﬁ?m[i EIIES ﬁzn
S G S o o1 TRae fr |
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1. Answer the following questions (any ten) :
1x10=10

word 2pTd Ted o (R e )

(a) What is aggregate supply?
AR e e &2

(b) Write the meaning of effective demand.

sien v o ford |

22A/1129 ( Turn Over )



(2)

(c) Who first coined the term fIliquidity

preference’?

T - A ! QI e ffee 2

(d) What does LM curve denote?
LM @2 f& 35@ ?

(e) Define multiplier.
B9 e e |

() What is marginal propensity to
consume?

AT Torgonl aheel 2

(g) Write the meaning of transfer payments.
Eciica o e L ECK RERIT

(h) What is creeping inflation?
B9 oifSq JurRfS T 72

() What is Phillips curve?
fferom @31 62

(i) Write the meaning of demonetization.
fRureaer Y for |

(k) What is meant by full employment?
ol forcanel et 3fercet 6 e 2
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(3)

() Write the meaning of balance of trade.

e AT e e |

(m) Define exchange rate.

fafersty 249 ige By |

(n) What is effective exchange rate?

e Rt 29 & 2
(o) Forex is
( Fill in the blank )

Forex S« __ |
( el o312 o3 11 )

2. Answer any five of the following questions :
2x5=10

SR 2PTRd R e oo T fore -

(@) Distinguish between long-run period
and short-run period.
TSI S ZFFET WS 12 (& |

(b) What are the factors determining
aggregate demand?

AT SifEw AR Somrarg & 5 0

(c) Distinguish between inflation and
deflation.

TErHIfS S SRS NS =123 fRefy 754 |
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(4)

(d) What 1is meant by demand pull
inflation?

SRTERS e 2

(e) Mention WO features of foreign
exchange market.

2T R I1E qo1 (AP Seary 1

() Name two main types of exchange rates.

R 29 1 AP AW fora |

(g What is meant by a deficit in balance of
payments?

AAfReNne ere Wi M {6 Jeeman = ?

(h) Write two causes for shift in aggregate
demand curve towards right hand.

AT 5 (@2 G TBRS @RI IR
wo1 ot |

3. Answer any four of the following questions :
Sx4=20
© PR R o mifRe T fore -
(a) What are the components of aggregate
supply? Briefly explain.
TS o SefmreTE 62 TR iR o |

22A/1129 ( Continued )



(5)

(b) State the limitations of IS-LM analysis.
1S-LM ReRT Surercad I 9

(c) Differentiate between aggregate demand
function and aggregate supply function.

AT (35) SR o i< A (39)
T AETS 2A19F (& |

(d) Discuss the concept of multiplier as put
forward by Keynes.

@5 SISRCHRT B9 HIRENCH! Sl 241 |

(e) Distinguish between current account
and capital account. ,

SRS fRoret ST e RO T A1 o

() Discuss the components of aggregate
demand.

AR (5) DIRAA TATHCIR SICEAL| 34 |

(g) Discuss the structure of foreign
exchange market.

R R I 0 RAC Ses= 4 |

(h) Explain how the exchange rate is
determined and mention the factors for

exchange rate determination.

A 2 e [T T = e R 29
Grefraey T TATTFIRR SCEY T |

22A/1129 ( Turn Qver )



(6)

4. Answer any four of the following questions :
; 10%4=40

() What are IS and LM curves? Discuss
the features of IS and LM curves.
S w® LM @ Wi 2 IS-LM (¥NF
IS BGICRI S

() What are the assumptions and
limitations of multiplier?

R YR TF ANRHSIAN F 2

[c) Explain the causes of demand-pull and
cost-push inflation.

TSNS HF - (TS JAFPIST FRPR
77 T4 |

(d) Mention the features of inflation and
how it can be controlled.

ey REE SR I oW We
@IS g v 3w, foran

(e) How is aggregate supply affected in both
short run and long run? Explain.

IPE AF Tefpra @ET ANES @6
OIS 3 2 71 4 |

22A/1129 ( Continued )



Vel )

() Explain the effect of MPC on AD curve.
Why does aggregate demand curve slope
downward?

AWET oM @y ede  TUcerd Alfee
ARSI (FCANCE 2SIq ¢ T 31 | AP
IR (IO Sergge ol 99 20 2

(99 Explain how IS curve is derived.
IS @1 e Sr239 1 28 101 341 |

(h) Discuss the causes of excess aggregate
demand and ways to correct them.

wfefie AT HIdwR FRT SF WE AN
I JREPIR &, SCEs1 41 |

(i) Analyze the relationship between
inflation and unemployment.

RS F FeE SWEE TwS 99l EE
foame 41 |

(i) Explain the Keynesian theory of
inflationary gap.

(3T TEFRIS FF OG0 9 |

* k Kk
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Full Marks : 80
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following questions :
1x10=10

Gerd SPPTYRA f (1Tl Wb ed fiat -

(@) On which year was Food Corporation of
India (FCI) set up?

@ 57e SRON I 5 BoF 391 02fee 9

(b) Mention one objective of new industrial
policy of 1991.

388 b g 8w Mex @B S
e |
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(2)

(c) What is MUDRA?
MUDRA f#?

(d) Inwhich year India became a member of
WTO?

@ 7% ©{® WTOR o0 ¢ ?

(e) Define foreign investment.

R R ke |

() Write one cause of regional variation of
agricultural productivity in India.

TR IR Teomleer HEfed SRATOR
NP b1 P foreyt |

(g) Point out one achievement of land
reforms in India.

SRS B FFRT oI Sy ey 9 |

(h) What are the purposes of short-term
agricultural credit?

UM IR 41 S 2 0

Mention one name of loss making public
sector undertakings in India.

S (ROM S 21 Trermay o9 <) T
9 foren |

() Write one solution
problem of deficits
Payments in [ndig

22A/885

1)

to the growing
In balance of
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(3)

SR AR TR Yed e @ e
o3 ST SR o1 T o |

(k) What is the main purpose of the
agricultural price policy in India?

oRee $ T TR e S 2

()  Point out one export promotion measure.

I &PTRR o1 <% e f |

(m) Mention one difference between small-
scale and cottage industry.

7 Sl WF PO ST e o1 1Y
TCEY 90|

(n) State one feature of WTO.
WTOF <o ¢3Pes Beard 41 |

(o) What is balance of trade?
&R EerR ST Jfeicet 6 @ 2

2. Answer any five of the following questions :
2x5=10
Geq PpRd R e #fivbr T faw

(a) What is disinvestment in public sector
undertakings?

e e aferErTR e of f
™

22A/885 ( Tum Over )



(8 )

(b) Mention two factors responsible for poor
performance of land reforms programme

in India.
SAwe SR 7FH WA T FRETOR iy
IRT oy |

() Write two important strategies for
industrial development in India.

SHwS Sraie SRR A T EFEY (e
foran |

(d) Mention two problems faced by small-
scale industries in India.

OROS T SCPYR TR I
TEY 9|

(e) Write two measures adopted by the
government to improve the condition of
farm workers in India.

OReA 1 e e S e beed 2%
91 701 I o |

() Name two central public sector
enterprises which have received
‘Maharatna’ status in India.

SRS (8 [N J03 2foTW 1o AN o
R 2w’ Rt sl 9z |

22A/885 { continusd)



(5)

(99 What are the initiatives taken in Aatma
Nirbhar Bharat Abhiyaan for revival of
small-scale industries?

TU ST AR A TGRS TS
SfEATTS 3 f e @ taem 2

(h)  Highlight the periods of current account
deficit in balance of payments of India.

S MR @orR Sgeq shre RueR
CRqe (31 {1 qIfoq Fleferan Tege <41 |

3. Answer any four of the following questions :

S5x4=20
O P f (e BB Tee i

(@) Mention some measures to raise
agricultural productivity in India.

SRES FRI T I N IR @HEE
JE SEY 391 |

(b) What are the factors responsible for
mounting crisis in balance of payments
in recent years in India?

CFT 8 a1 IS MG PR PR
&2

22A/885 ( Turn Qver )



(6)

(¢) Explain the role of foreign direct
investment in Indian economy.

SN WA e (avie R g
39 390 |

(d) Explain the importance of industries in
economic development of India.

TR ST CmMe SR @Fg 39
34 |

(e) Point out the objectives of land reforms
in India.

SRES B SKF SRR SEd 9 |

() Explain the major problems of the
public sector enterprises in India.

SRS G 499 AfCFPTR 4T TR
efefl 41|

(g) Briefly explain the present state of
agricultural marketing in India.

SReY IR TN ORI IS S 5 6
1

(h) Mention the factors affecting slowdown
in industrial growth in India in recent
time.

Treefer S SRy Srahe JfE T84 (IS
2 AR TCEY 9 |

22A/885 ( Continued )




e

4. Answer any four of the following questions :
10%4=40
o4 PP R e wifitre s i

(@) Discuss the trends in agricultural
production in India since independence.
TTeR Pree sReq R TeAma S
T AT 3447 |

(b) Explain the phases of industrialization
and its growth in India.

SR ST F R Jfad PRz 36
el

(c) What is agricultural credit? Discuss the
various sources of agricultural credit in

India.
R 49 Fore & @2 oRwe FR 4w Ricw
TR 36T 91 |

(d) Evaluate the performance of public
sector undertakings in India.

S G| 499 ST P JeAE 1|

(e) Discuss the balance of payments
position of India since independence.

HerR fPre sAet qfifere e Tged
ag[ A S 3491 |

22A /885 ( Turm Over )



(8)

() Dlsf:uss the role of cottage industries in
India and mention its weaknesses.

RO 30N e SRFPTR S 1 S
R TSP SCEY 9 |

(g) Explain the main features of
agricultural price policy in India.
o IR e Afed 24 (aPBPRR 361 1

(h) Whatis agricultural marketing? Explain
the defects of agricultural marketing in

India.

P TR T qf%zaﬁsﬁ? THES 25
ﬁmﬁmwm@m{imwu

(i) Give an overview of foreign investment

flows in India.
oqes Ui R 4R oo
srep i |

() Critically evaluate various agricultural
policies undertaken in India during post

1990’s.

saaommmﬁsﬁwmﬂ
afen R AR WWW

20A/885 ( Continued)
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(: 95)

Paper : ECO-RE-6026

[ Economic History of India (1857-1947) ]

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following questions :
1x10=10

o 2rPRd R I WO B i

(a) What is meant by colonial economy in
India?

SRwe ofcafie weite e & 3em 2

() What was the main focus of the colonial
economic policies in India?

SR $AFRFT Stfer AMeT T @iy
e fiee 2

(c) What is meant by commercialisation of
Indian agriculture? .

sRoN T AP e f 3= W2

22A/885 ( Turn Over )



(10 )

(d) Mention one cause of recurrent famines
in India during 1857-1947.

e 59 {1 Y584 B(e SRS INE (R[I
&% @bl IR T 91 |

(e) What is deindustrialisation?
PEgesd 2

(/) What was the most important industrial
infrastructure developed in India during
British Rule?
=T *PF SRS SRST TS g
Srmie Sl fF S 2

(g9 What was the first known banking
institution in India?

OOd 4 GG (@R fSRI (FeoT 2

(h) Mention one source of non-institutional
agricultural credit in India during the
British Rule.

= PFR TRRRS SROE AT <
R R feq S v S v |

() Who introduced land reforms in India
during British Rule?

o= PR SRS @I SHwS S eFe
JE 4TS IffReq 2

22A/885 ( Continued )



(11 )

() Who first calculate national income in
India?

SIEE e-\omaww@uw S1oreT fafest 9

(k) What Was the main source of

OCcupation of the people of India during
the British Rule?

o= R SRR Sedh T &
s o1 Bt & e 0

()  What were the main reasons for slow

growth of population of India during
British Rule?

Po=a PR e SReR wmRT
CTERT1 3 o1 el B e

(m) Mention one reason of economic
underdevelopment of India during the
British Rule.

g PR TRERE SRR SRR
GHEPROR bl P9 SEY 9 |

(n) What is trade surplus?

Afifers Tge fF 9

-(o) What are cash crops?

G PR 2

22A/885 (i coes)



(12 )

2. Answer any five of the following questions :
2x5=10

oo ey R e b e i

(a) Mention two causes of low agricultural
production of India during the British

Rule.
o RS RO IR FF TeATR
9 TCEY 91 |

(b) State two features of Indian economy
during preindependence period.

G- FAOR SRS SHe SIS o
cafegy Tead 91 |

(c) Write any two effects of
commercialisation of Indian agriculture
during the British Rule.

Py P OERREE  TROR Ffe
TR R e 71 oo fofs |

(d) Mention two features of Indian economy
during the early 19th century.

>Mf%wwﬁ6w®uwﬁrﬁﬁqﬁ{zaﬁ@
Ty 90|

() What was the Guild system?
fore Trazredn & wfeE 2

22A/885 ( Continued )



(13 )

() State two positive effects of British
colonialism.

O BRI 1 X stsra e <

(99 What were the main items of trade
during British India?

mwmwww
SRR & ifie 2

(h) Mention two Sources of capital flows to

India during British Rule.

WWWWW@W@%W
B |

3. Answer any four of the following questions :
Sx4=20
O PRI R e oo S iy

(@) Mention five features of Indian
agriculture on eve of independence.

AR-TRTCRTS RO FRY S0 L
TN 90 |

(b) Write a note on land settlement policy of
India during British Rule.

o= 1P TR SRSt SR Tves e
SRS b1 G oty |

122A/885 ( Turn Over )



(c)

(d)

(e)

(9)

22A/885

(14 )

Where was the Zamindari system
implemented by British in India?
Discuss its features.

3fcz TRTS SRATR I 'O G PR 2
2R MBI ST 41 |

Discuss the rule of public sector during
British Rule.

o= *PFR TRRES JERd I99 B
SCETA] 91 |

Discuss the State of Indian Foreign
Trade on the eve of independence.

AR-TATORTR SR (iR TR
S 41 |

Describe the negative impact of the
British Rule on Indian economy.

SReY weAfer ¢S R AW 4
ASTETRR 3] 41 |

Write a note on regional variations in
the occupational structure of India
during British Rule.

=3 PR THIRRTS SeR S ROE Sl
frfieg siafam weefers SROTRTOR @)@ 9Bl
Cor ferey |

( Continued )



(15 )

(h) Explain the role of Suez canal for
expansion of foreign trade of India
during British period.

ot TS SRe @R AR TR
(FO YRS YR S I 41 |

4. Answer any four of the following questions :
10x4=40
o PP R T SR T i

(a) Explain the Drain theory of Dadabhai
Naoroji. '

TSR SR o7 fAofe ©geo! Imm 347 |

() Narrate the history of railway
development in India during British

. period.
qfod STRCRRE SO ({9 TR G I
1

(c) Discuss the early impact of British Rule
on Indian economy.

SREN HYAIeS ftr WPFE AfiE e
S5 4 |

(d) Write a note on the decline of Indian
handicrafts during British Rule.
fod *PFR STIRRTS SReq WAEA o1
8RS bl (BT o |

‘?AI 885 ( Turm Over )




(16 )

(e) Discuss the evolution of agricultural
policy in India during 1880-1919.

swhro B AT 33 oite Oed R Afeq
SaRe Sl 39 |
() Explain the causes and consequences of

commercialisation of Indian agriculture
during the British Rule.

P TR RO TRl JfR
TRRTEFIR T S Felreel ST 3 |

(g) Discuss the effects of famines on Indian
economy during British Rule.

qfomq PR RS SHeN WIS e
SR A 1 |

(n) Narrate the Industrial Policy of India
after 1857.
Sred 59 PRe Sed Sl A 3641 41 |
(i) Write a note on growth of towns in India
during British period.
qfo=d RS SRET MR THEE SRS bl
Cor fera |

() Explain the effects of World War—I on
Indian economy.

SO SIS Ao R 2w e 4 |

22A/885 ( Continued )
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Paper : ECO-RE-~6036

( Public Finance )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :

1x10=10
werd f (PICT wROR FTtepTR) g fia -
(a) What is public finance?
PRI 8 IR @M 2
(b) What is meant by social welfare?
ANIEE Fed 3feree [ g 2
() Write one social significance of public
finance.
411 feq b1 e weeRf e |
(d) Mention one source of public revenue.
BAFIA ATerEd b1 T Trwy 3|1 |
22A/885 ( Turn Over )



(e)

(9)

(h)

(1)

0

(k)

(Y

(m)

22A/885

(18 )

Give one example of public good.

Q] T o1 S i |

Define tax incidence.

T oy S i |

What is externality?

el &2

Write one objective of fiscal policy.

sy s @bt S o |

Mention one canon of tax.

399 o1 S Ty 91|

What is deficit budget?
5 As0 2

What is the full form of GST?
GSTA F~7f Feichi 2

Give an example of direct tax.

oo $49 o1 Trzael |

What is taxable capacity?
39 o T 2

( Continued )




(19 )

n) Fiscal federalism attempts to define the
financial relatio
foe | nship between Centre

R W!M

(Fill in the blank)

WWWW@W FonkaLy
oS R8N SToRkbq o S 9 |

(3160 1% 2 1)

(o) Write one significance of local finance in
India.

SIS T R8I 3w @1 wwy Trme |

. Answer any five of the following questions :
2x5=10

| -]

oo P R I AeeR T fr

i (a) Write two characteristics of public good.
1
| TRl G qo1 CaPiEy for o

(b) Write two differences between public
finance and private finance.

9 e o Afse et e &3
N ford |

() Define market failure.

51 fRFerer wewn i |

- 22A/885 ( Turn Over)
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fil

(d)

(9)

(h)

(@)

22A/885

(20)

What are the two types of incidence of
taxation?

4 o o 29 ¥ 197

Define capital budget and revenue
budget.

qa@mzﬁﬁwwmmﬂ@ﬁmu

Mention two objectives of budget.
A o1 S o |

Mention two importances of fiscal
federalism in India.

a9 |

Give two reasons of why tax base of
direct tax in India is small.

SRS doTF I PR 0% @E P IR
TRy 991

. Answer any four of the following questions :

5x4=20

W PR fl Qe B T fid

Write a note on how equity of tax brings
social welfare.

39 SR TR Femd e E @ OR
s oo O o4 |

( Continued )
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(b) Discuss the characteristics of good tax
system.

EoRo R KR R

(c) Show the difference between absolute
and relative taxable capacity.

9 SF WS 79 MR ST T 12l
feran |

(d) Explain the role of indirect taxes in
developing country.

TR (TS [T 99 S 967 91 |

(e) Explain few measures taken by Indian

Government to simplify taxation process
in the last five years.

TRY TR [0 b I|e I RN

AP AR A (FROW e 361
I |

() What are the determining factors of
taxable capacity of a country?

93 OPR T4 A9 TR R o
fefe

(g) Explain the limitations of fiscal policy.
A MO NARGOR 7001 41 |
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(d) Why does fiscal deficit occur in a

developing country? Do you think fiscal
deficit is important for economic
development of developing country?

TEATe (TS ISR W Ted o 2o @3
(PTARY TS 3 IR 9 R @@
AT e BN SR 2

(e) Give an assessment of recent fiscal
policies of India.

SRSy RN G MR w3
oRficamsen Wi & |

() Describe the role of budget as an
instrument of economic policy.

et e e ot Acaia s 3
EXIN!

(9) What are the major challenges of India’s
tax system? Suggest some measures to
increase tax collection in the country.

O F94 A T dONFHEA B &2 opre
TR A AT RO - SI9R—T |

Discuss in detail the main objectives of
monetary policy in India.

SR e WA 0 Srermz ==
ST 34 |
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() Do you think that after implementation
of GST in India problems of indirect tax
collection are solved? Give your views in
this regard.

SRES GST I TR Fo0 AF 9
TRIZY SRR Seq (@ 31 P ORI 7 <%
(TS (S TONS SSRCGHA] |

() What are the major issues of fiscal
federalism in India? Explain the role of
Finance Commission to sort out these
issues. ;

SRS ISR [N IR I REER
f o 2 RS wcaee! % R SiEe @
SRS e FIRCR, 391 91 |
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